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| Semester B.Com. Examination, November/December 2013

(Semester Scheme)
(2011-12 Only)

COMMERCE
Business Economics — |

Time ;: 3 Hours Max. Marks : 100

Instruction: Answers should be written completely either in English or in
Kannada.

SECTION-A

Answer any eight of the following. Each question carries two marks. (8%2=16)
QIR TITTR QO TINTI0 YVZ0R, T3 NTHZSN 2 90BN,
&, A D X
1. a) Define Business Economics.
RVTOOT LTFTIRTI 39, 832,8 Ve,
: = )

D) State the Law of Demand.
23eEFOL aommag SO,

c) Define Production Function.
YUTVTTD TDODF” T3 030 559,809, F Ve,
d) What is Marginal Utility ?
AETOT BOXNMOED @owdd*wzsraﬁe& 7

e) Give the meaning of Market Demand Schedule.
DIRTITE LIeCTOD 2T0R R @tp’rdabq SPR.

f) What are Economies of Scale ?

SHFT 20T, 030N 0TTERD ?

P.T.O.
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g) Give the meaning of Budget Line.
20N e5T3003 Tead 0TTe0 9

h) State Law of Supply.
TPTB ammw@t SPR.

i) Give the meaning of Opportunity Cost.
CINTOS 3 R0TTEID ?

J) Distinguish between Firm anpd Industry.
ROA TIBY VT 0T RDTYADI) V2.

SECTION-B

Answer any three of the following. Each question carries eight marks. (3x8=24)
OSRRYTIOTTR TORTD géﬁ@ﬁ SUBOR. T[S aa’_)%ﬁ 8 203NN,

2. Who is Business Economist ? Discuss the role of Business Economist in a
firm. |

3 BH08 T TR 20TS CIRTO 2 RoFEE) 53 TIRR) VOR.

3. What do you mean by Consumer Sovereignty ? State its limitations.

VTIREACD FIFLIIDOZ, OWTERO ? STT ST Gw"?a‘"ﬁ#di SO

4. Whatis meant by Total Outlay Method ? From the following information determine
the nature of price elasticity of demand using total outlay method.

g

2t ﬁz:gd ﬁc?é% 0BT ? BPAT RTINS 23¢3 1306 %@m@ﬁa’%d ::; a’dﬁg{ 23D,

5%, d%@odo@m TOTRO&EBOAD.
Price w3 Qty. WelF IT5e9
a) Rs. 12 500
10 650

08 900
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b) Rs. 12 500
10 600
08 750
c) Rs. 12 - 500
10 525
08 625

5. From the following cost data given below, calculate FC, VC, AFC, AVC, AC and
MC of a firm.

39N DTN Fzeodted FC, VC, AFC, AVC AC 353 MC ReiS) 30m08R0000.
Output (in Units)

Total Cost (m R) - “
400 | 480|550 | 590|620 | 650 | 730 | 820 | 950
280, w3 (dJa Ny )

6. Explain why demand curve always slopes downward from left to right.

23eRECD T30 ATOOT WOE, BPRDTIDNTIOZTICE ? WO

SECTION-C

Answer any four of the following. Each question carries fifteen marks. (4x15=60)

CIRFYTHTTR T, TINOR 02 B8 TINK 15 2osnw

/. Explain the Law of demand with schedule and diagram. What are its assumptions ?

23eEFOL Ebcmdad&l BRORRL TBY TeaToUdg SR 0NN DWOR. AWT NIRRT ?

8. Define Law of Equi-Marginal Utility. Explain the law with limitations.

R0 — ACTIDOT BOATIED DOITOTT e99,372, 3 Ve, QOTTITT) BT ETBNLR DN LT3




SN - 660 4 EEER RO HRT

9. From the data given below, find the trend values for each year, using the
method of least squares and estimate the annual sales for the year 2013 and
2014,

T é@@swdoﬁ DY 0BNPOTT 3,068 TROTIIEST ab‘aegsd:’)g{ é‘c’bﬁw DOINE ﬁ%@o@ood
BoT30&BON0 30280 2013 T 2014 T [RF T3 £90T30%0 ST FOTBIETOND.

2005 | 2006 | 2007 | 2008 | 2009 | 2010 | 2011

Sales (Rs. in lakhs)
DITE (Cw. VBNV )

10. What are internal and external economies ? Explain.

30308 TN LIV, ROT, DD CIRTT) ? DFOR.

11. What is Demand Forecasting and explain the methods used for forecasting the
demand.

3eRBCT £20TT9230 DOTTERO ? 3303 zﬁe@éododg{ CI0TIDTL DIV é)qsadr\’@;aii WO




